Tutorium Mathematik 2 (Prof. Kahl) - SS2011
Tim Seyler

Blatt 1 - Kurvenintegrale

Losungen

Aufgabe 1

1
/(y-ewda:+exdy):/(t2‘et dt+e-2tdt)=e—2+2=¢
0

C
Aufgabe 2
1
Lo 6 87
(F-7)dt= [ (2t° +t* + 4t)dt = 35

C 0
Aufgabe 3

a) o(z;y) =22y + 222 —y+ K mit K(y) = —y
b) ¢(x;y) =x-e¥ + K mit K(y) = K = konst.
c) ¢p(x;y) =23y +y2r + K mit K(y) = K = konst.

Aufgabe 4
or Oy
L o 2 . L,
b) é(z;y) = 52" +y7) + K mit K(y) = Jy
P

c) /ﬁ dF:/(ac dz +y dy) = 16,5
C Py
Aufgabe 5

2
Analog zu Aufgabe 2 — /(t5 — 28 + 3¢9) dt ~ 203, 8
1

Aufgabe 6
cos(t)
(1+ sin2(t))?

Aufgabe 7

K =

b
)
a) kartesische Koordinaten — L = /\/1 + (y)? de — L=4"-sinh <2>
a

to
b) Parameterform — L = /\/(%”)2 + (y')? dt — L = arcsinh(2)
t1



